

$$x^2 - 2x + 2 = 0 \quad S, -b = 2 \quad P, \frac{c}{a} = 2 \quad \alpha, \beta \Rightarrow \alpha + \beta = 2 \quad \alpha\beta = 2$$

$$\frac{x^2 - 2x + 2}{\Delta} = \frac{x^2 + 2x + 2}{\Delta} = \frac{x^2}{\Delta} + \frac{2x}{\Delta} + \frac{2}{\Delta}$$

$$\frac{(\alpha + \beta)^2 - 2\alpha\beta}{\Delta} = \frac{2^2 - 2 \cdot 2}{\Delta} = 19$$

$$\frac{-b}{2a} = \frac{2 - 1 \cdot 2}{1 \cdot 2} = 0 \quad \frac{-b}{2a} = \frac{1 \cdot 2}{2} \quad S, -b = 1 \cdot 2 = 2 \quad \frac{-b}{2a} = \frac{1 \cdot 2}{2} = 1$$

$$|\alpha - \beta| = \sqrt{\Delta} = \sqrt{4k^2 - 4} = 2\sqrt{k^2 - 1} \quad \frac{2\sqrt{k^2 - 1}}{2} = \sqrt{k^2 - 1} \quad \sqrt{k^2 - 1} = 2k \Rightarrow \sqrt{k^2 - 1} = 2k \Rightarrow k^2 - 1 = 4k^2 \Rightarrow -3k^2 = 1 \Rightarrow k^2 = -\frac{1}{3}$$

$$[k^2] = [-\frac{1}{3}] \Rightarrow [1, 2] \Rightarrow 2$$

$$\frac{-b}{2a} = \frac{2 - 2}{2} = 0 \Rightarrow \frac{-b}{2a} = -2 \quad S(-1, 1) \quad \alpha + \beta = 2 \quad \alpha\beta = 2 \Rightarrow \alpha = 2 - \beta \Rightarrow \beta = 2 - \alpha \Rightarrow \alpha = 2 - (2 - \alpha) \Rightarrow \alpha = 2 - 2 + \alpha \Rightarrow \alpha = \alpha$$

$$y = a(x^2 - 2x + 2) \quad x = 1 \Rightarrow a(1 - 2 + 2) = a \Rightarrow a = \frac{1}{2} \Rightarrow y = \frac{1}{2}(x^2 - 2x + 2)$$

$$x = 0 \Rightarrow y = \frac{1}{2}(0 - 0 + 2) = 1 \Rightarrow C = 1$$

$$-x^2 + 8x + m = 0 \quad S < 4 \quad P > 0 \Rightarrow -m > 0 \Rightarrow m < 0 \Rightarrow \Delta > 0$$

$$x_1 + x_2 = 8 \quad m > -\frac{20}{2} \quad \left. \begin{array}{l} P < \frac{1}{2} \Rightarrow -m < \frac{1}{2} \Rightarrow m > -\frac{1}{2} \\ m > -\frac{20}{2} \end{array} \right\} -\frac{20}{2} < m < -\frac{1}{2} \Rightarrow [-10, -\frac{1}{2}]$$

$$y_{\max} = 2 \quad m > 0 \Rightarrow -\Delta = 2 \Rightarrow -12x + 20m^2 - 2m = \frac{\Delta m^2 - m - 39}{m} \Rightarrow \Delta m^2 - m - 39 = 0$$

$$\Delta m^2 - m - 39 = 0 \quad (\Delta m + 1)(m - 3) = 0 \Rightarrow m = \frac{11}{\Delta} \quad \Delta \leq m \leq 3 \quad \checkmark$$

$$y = m x^2 - 12x + 20m - 1 \Rightarrow y = 4x^2 - 12x + 18 - 1 = 4x^2 - 12x + 17$$

$$\frac{-b}{2a} = \frac{12}{8} = 1.5 \Rightarrow x = 1.5$$

$$\alpha, \alpha, \beta \quad \alpha^r, \alpha\beta, \rho \quad \alpha\beta, \alpha-1=\alpha^r \quad \alpha^r-\alpha+1=0 \quad -v$$

$$(a-1)^r, \dots \Rightarrow a \mid$$

$$x^2 - vx^r - \Delta = 0 \Rightarrow t^r - vt - \Delta = 0 \quad -\Delta$$

$$t_1, t_2 = \frac{v \pm \sqrt{v^2 + 4\Delta}}{2} \Rightarrow \frac{v + \sqrt{v^2 + 4\Delta}}{2}, \frac{v - \sqrt{v^2 + 4\Delta}}{2} < 0 \text{ Üjé}$$

$$t_2 x^r = \frac{v + \sqrt{v^2 + 4\Delta}}{2} \Rightarrow x^r - \frac{v + \sqrt{v^2 + 4\Delta}}{2} = 0 \Rightarrow S_5 \Rightarrow \rho, \frac{(v + \sqrt{v^2 + 4\Delta})}{2}$$

$$r p^r - r^2 S + r^2 S, \frac{r(v + \sqrt{v^2 + 4\Delta})^r}{2} = 0 + 0 = \frac{\varepsilon a + 4a + 1 \varepsilon \sqrt{v^2 + 4\Delta}}{2}, \delta a + v \sqrt{v^2 + 4\Delta}$$

$$y = kx^r - \varepsilon k - c \Rightarrow S = \frac{-b}{\varepsilon a} = \frac{-\Delta}{\varepsilon a} \Rightarrow S, \frac{r}{k} = \frac{-(4 + r \varepsilon k)}{\varepsilon k} \Rightarrow S, \frac{r}{k} = \frac{-\varepsilon - 4k}{k} \quad -4$$

$$-\varepsilon \left(\frac{r}{k} \right) - \varepsilon = \frac{-\varepsilon - 4k}{k} \Rightarrow \frac{1 - \varepsilon k}{k} = \frac{-\varepsilon - 4k}{k} \Rightarrow \frac{-\varepsilon + rk}{k} = 0 \Rightarrow rk - \varepsilon = 0 \Rightarrow k = \frac{\varepsilon}{r}$$

$$\frac{-\varepsilon - 4k}{k} = \frac{-\varepsilon - 4 \frac{\varepsilon}{r}}{\frac{\varepsilon}{r}} = -1$$

$$\begin{cases} y = -mx^r + m(x+1) \\ y = -m - x \end{cases} \Rightarrow \begin{cases} -mx^r + m(x+1) = -m - x \Rightarrow -mx^r + m(x+1) + m + x = 0 \\ mx^r + x(-m-1) - (m+1) = 0 \Rightarrow \Delta < 0 \end{cases} \quad -1$$

$$(m+1)^r + \varepsilon m(m+1) < 0$$

$$\Rightarrow (m+1)(\varepsilon m+1) < 0 \quad \frac{-1}{+} \frac{-\frac{1}{\varepsilon}}{+} \Rightarrow m \in (-1, -\frac{1}{\varepsilon})$$

$$(m+1)(m+1 + \varepsilon m) < 0$$